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Angle Prop

In the triangl

erties of Triangles

while £d is an exterior angle.

The su

e, La,Lband Lc are interior angles

m of interior angles of a triangle is 180°,

ie.La+Lb+ Lc= 180° (£ sum of A)

If

of its interior opposite angles,
ie.Ld=La+ Lb(ext. L of A)

Classification of Triangles

4.

| i

one side of a triangle is produced or extended, then the exterior angle formed is equal to th I
[ Sty :

Definition

Remarks

Name

All angles are equal to 60°. :

Equilateral
triangle

A triangle with
3 equal sides

(£s of equilateral A) i

[sosceles
triangle

A triangle with at
least 2 equal sides

The base angles of an isosceles manm

equal.
(base Zs of isos. A)

Scalene
triangle

A triangle with no
equal sides

All the angles in a scalene triangle are
different.

Right-angled
triangle

A triangle with
I right angle

There are many kinds of right-angled triangles
which are scalene but there is only 1 right-
angled triangle that is isosceles with angles
45°,45°and 90°.

Obtuse-angled
triangle

A triangle with
1 obtuse angle

There are many kinds of obtuse-angled
triangles which are either isosceles or scalene.

Acute-angled
triangle

A triangle with all
3 acute angles

NI |7 D=

There are many kinds of acute-angled
triangles which are either isosceles or scalene. |
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Angle preps
" quadrili“‘?r-’l is a closed 4-sided plane figure. R‘?
qum of intenor angles of a quadrilateral is 360°, b / 4
e t_z_,___h-e-._c*+__d---‘."‘bﬂ“ v
.= ) _,-/
Gwmetﬂcal properties of Special Quadrilaterals
1 pair of parallel a+ 2b=180° gy 3 | Trapezium
sides. (int. £8) e ‘
1. 2 pairs of 1. La+ £b=180° Diagonals AC and | Parallelogram
parallel sides. (int. £8) BD bisect each
other at E.
2. Opposite sides 2. Opposite angles ie . AE=EC
are equal. are equal, i.e. and BE = ED
B C Za=Lc
(opp-
l £ s of //gram)
Kite 1. 2 pairs of equal | LABD = 2ADB 1. Diagonals AC Kite
4 adjacent sides and and BD cut each
2 BDC = £DBC. other at right
BCTE D > Both AABD angles at £
and ABCD are
jsosceles. 2. The longer
diagonal AC
shorter diagonal
BD

ies of Quadrilatcrnls




Rhombus

. 2 pairs of
parallel sides.

2. All four sides
are equal in
length.

T) ZABC + 2BCD
_ 180° (int. Z.5)

2. Opposite angles
are equal, i.e.
LABC = LADC

and )
ABAD = LB(.D

and
L CBD = LCDB

- i —

I. Diagonals A¢
and BD bisect
each other
at right angles
at £,
ie. AE = EC ang
BE = ED,

2. Diagonals bisect
the interior
angles, i.e.
LABD = £ CBD
and
LACB = LACD.,

1. Diagonals AC

Rectangle

A D
Bm

1. 2 pairs of
parallel sides.

2. Opposite sides

The four corner
angles at the
vertices are right

angles, i.e.
LABC = LBCD

2. Diagonals AC

and BD are
equal in length.

are equal.
= 90° and and BD bisect
£LBAD = LADC each other at E,
= 90°. ie. AE = EC
and BE = ED.
Square 1. 2 pairs of The four corner 1. Diagonals AC .
A D parallel sides. | angles at the and BD are or Recta,ng]e &
vertices are right equal in length. Kite
2. All four sides angles, i.e.
. - are equal in LABC = £BCD 2. Diagonals AC
length. = 90° and and BD bisect
LBAD = LADC each other at
= 90°. right angles at E,
ie. AE = EC and
BE = ED.
3. Diagonals bisect
the interior
angles,
ie. LACB =
LACD = 45°,
Polygons

8.

A polygon is a closed plane figure with three or m

angles equal is known as a regular polygon.

ore sides. A polygon with all sides equal and al
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1.

. Pml_wrlios of Polygons

) reon, the sum of an inter:
Ina polygon I Interior angle and i
1t i : P
o Lx+Ly= 180°. S corresponding exterior angle is 180°,

The sum of exterior angles of an n-

Sided ol i )
n the case of a n-sided regular po} polygon is 360°,

ygon, each exterior angle, / x = 200
n

The sum of interior angles of an n-sided polygon is (n — 2) x 180° or (2n — 4) x 90°

[n the case of a n-sided regular polygon, each interior angle, Ly = (n-2) x 180° . (2n — 4) x 90°

n n

Some of the common polygons and their sum of interior angles are shown in the table below.

N ofsndes
I m 1§
B 3 Triangle (3 -2) x 180° = 180°
4 Quadrilateral (4 - 2) x 180° = 360°
5 Pentagon (5 —2) x 180° = 540°
6 Hexagon (6 —2) x 180° = 720°
1 Heptagon (7 - 2) x 180° = 900°
8 Octagon (8 —2) x 180° = 1080°
9 Nonagon (9 -2) x 180° = 1260°
10 Decagon (10 - 2) x 180° = 1440° |




